
qm=;+= laa/)f /sd1 g]kfn ;/sf/af^ k|fKt ;`rfng cg'bfg 241,810.00s= a}&s eQf tyf b}lgs e|d)f 175,000.00v= kl/ifb\ vr{ 15,000.00u= ;`rf/ vr{ 3,000.00#= :^]zg/L ;fdfg vl/b tyf ('jfgL 25,000.00~= a}&s vfhf vr{ 23,810.00241,810.002 g]kfn ;/sf/af^ k|fKt k"hLut cg'bfg 6,367,464.692=s nIfLt ;d'x 219,077.001 afnaflnsf 62,597.00s= v]ns'b ;fdfg vl/b 30,000.00v= v]n d}bfg lgdf{)f 32,597.002= dlxnf nlIft sfo{qmd 31,296s= cNnf]af^ sk*f pTkfbg tflnd 31,296.003= h]i& gful/s, ckf~\, blnt, tyf cflbjf;L÷hghftL nlIft sfo{qmd 125,184.00s= h]i& gful/s ;Ddfg sfo{qmd 40,000.00v= lk%'dfdf /x]s]f blnt ejg lgdf{)f 31,000.00u= ;*s lgdf{)f 54,184.00125,184.002=v ef}lts k'jf{wf/tkm{ 3,689,032.20s= ;*s lgdf{)f 3,689,032.202=u k|jw{gfTds tkm{ 2,459,354.801= Ogb|fjtL df=lj= ljBfno ejg dd{t 300,000.002= rGb|jlt df=lj= v]n d}bfg ;Dofpg] 262,000.00
3= ;fd'bflos :jf= OsfO{ ;`rfng tyf kvf{n lgdf{)f 230,000.004= k|x/L rf}sL ;fdfg vl/b 20,000.005= ljB't ;e]{ RoflS;nf 50,000.006= ;fNkf ;+/If)f tyf ko{^g k|jw{g 200,000.007= nIdL ;fNkf df=lj v]n d}bfg ;Dofpg] 192,000.009= l;$sfnL b]ljyfg dd{t 50,000.0010= l;lnr'~ k|f=lj= %fgf dd{t 150,000.00
11= ;fNkf b]p/fnL afn ljsf; s]Gb| ;f}rfno lgdf{)f 30,000.0012= lk%'df-;jf/f uf]/]^f] af^f] dd{t 100,000.0013= ;*s lgdf{)f 875,354.802,459,354.80
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;fNkfl;ln%f] ufp¤kflnsf5 g+= j*f sfof{nocfly{s aif{ 3974÷75 sf] of]hgf af¤*kmf¤*
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qm=;+= gfd kb1 lzjs'df/ /fO{ j*fWoIf2 l~kf h~u z]kf{ ;b:o3 af;'b]j /fO{ ;b:o4 lutf la=s= ;b:o5 snfjtL /fO{ ;b:o6 d]dnfn /fhj+zL j*f ;lrj


